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Select the Correct Option for “Two
Zero Two Four”

A. 2044
B. 0044
C. 0024
D. 2024

Show Answer...
Correct Answer: D (2024)

Explanation:

The correct option for “Two Zero Two Four” is D (2024). In this representation,
each number represents its corresponding position in the sequence. So, “Two”
represents the position 2, “Zero” represents the position 0, and so on.

Therefore, the correct interpretation is 2024.

IQ Test: Number Sequence

Question:
Decode the following number sequence: “Two Zero Two Four”

1. 2024
2. 0044
3. 0024
4. 2044

Hint: Each number represents its corresponding position in the sequence.

Good luck!
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